

PO No. 4500093839

Date: 09/22/2017 Page 1 of 7

Ship To:

P & R COMMUNITY PARKS II DIV SEE NOTES SEE NOTES SAN DIEGO CA 92101-4806 Bill To:

Community Parks II 202 C Street, MS 804C San Diego CA 92101 **Billing Contact:** Barbara Nielsen

Telephone:

E-Mail: NIELSENB@SANDIEGO.GOV

Vendor: Rancho Santa Fe Security

1991 Village Park Way Suite 100 Encinitas CA 92024-1966

Terms:

within 30 days Due net **Delivery Terms**:

Delivery Terms: FOB Destination

Buyer: Katrina McDonald

Telephone: 619 236-6038

Vendor ID: 10006380 **Telephone:**760 942-0688 **E-Mail:** lcereghini@rfsecurity.com

E-Mail: KMMcDonald@sandiego.gov

							Ο.	5
Line#	Serv#	Item ID/Description Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pr Conv Fac		Extend	ded Price
1	Adams Rec Cente	er	06/30/2018	12 EA	56.35	EA	USD	676.20

2	Allied Gardens Po	ool	06/30/2018	12 EA	56.35	EA	USD	676.20
***	Item completely de	elivered						
3	Azalea Rec Center	r	06/30/2018	12 EA	56.35	EA	USD	676.20
***	Item completely de	elivered						
4	Bill & Maxine Wills	son Memorial	06/30/2018	12 EA	48.88	EA	USD	586.56
***	Item completely de	elivered						
5	Bud Kearns Memo	orial Pool	06/30/2018	12 EA	56.35	EA	USD	676.20
***	Item completely de	elivered						
6	Carmel Valley Poo	ol	06/30/2018	12 EA	48.88	EA	USD	586.56
***	Item completely de	elivered						
7	Cesar Chavez Cor	mmunity Park	06/30/2018	12 EA	48.88	EA	USD	586.56
***	Item completely de	elivered						
8	City Heights Rec	& Swim	06/30/2018	12 EA	48.88	EA	USD	586.56
Notes: T	he Terms and Cond	ditions of this Purchase Order are avail	able at http://sandiego.	gov/purchasing/	SEE	LA:	ST P	AGF
		IMPORTANT!			l.		ΓΟΤ <i>Ι</i>	
To ensu directed	re prompt payme to <i>Billing</i> Contact	ents, PO # must appear on all ship t person at <i>Bill-To</i> address listed al	ments and invoices;	all invoices must be				
					L			



PO No. 4500093839

Date: 09/22/2017

Page 2 of 7

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extend	ed Price
***	Item completely delivered					
9	Clairemont Pool Item completely delivered	06/30/2018	12 EA	48.88 EA	USD	586.56
11	Colina Del Sol Rec Center Item completely delivered	06/30/2018	12 EA	48.88 EA	USD	586.56
12	Encanto Rec Center Item completely delivered	06/30/2018	12 EA	48.88 EA	USD	586.56
13	Golden Hill Rec Center Item completely delivered	06/30/2018	12 EA	56.35 EA	USD	676.20
14	Kearny Mesa Pool Item completely delivered	06/30/2018	12 EA	56.35 EA	USD	676.20
15	C Lewis Skate Park Item completely delivered	06/30/2018	12 EA	48.88 EA	USD	586.56
16	Martin Luther King Jr Pool Item completely delivered	06/30/2018	12 EA	48.88 EA	USD	586.56
17	Martin Luther King Jr Rec Center Item completely delivered	06/30/2018	12 EA	56.35 EA	USD	676.20
18	Memorial Pool Item completely delivered	06/30/2018	12 EA	56.35 EA	USD	676.20
19	Memorial Rec Center Item completely delivered	06/30/2018	12 EA	48.88 EA	USD	586.56
20	Memorial Senior Center Item completely delivered	06/30/2018	12 EA	48.88 EA	USD	586.56
21	Mid City Gym	06/30/2018	12 EA	48.88 EA	USD	586.56
	IMPORTANT! e prompt payments, PO # must appear on all shipn o Billing Contact person at Bill-To address listed about the contact person at Bill-To address lis			SEE LA FOR	ST P	



PO No. 4500093839

Date: 09/22/2017

Page 3 of 7

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uoi Conv Factor	n Extend	ded Price
***	Item completely delivered					
22	Montgomery Waller Rec Center	06/30/2018	12 EA	48.88 EA	USD	586.56
***	Item completely delivered					
23	Mt Hope Cemetary	06/30/2018	12 EA	48.88 EA	USD	586.56
***	Item completely delivered					
24	Mountain View Rec Center	06/30/2018	12 EA	48.88 EA	USD	586.56
***	Item completely delivered					
25	Mountain View Teen Center	06/30/2018	12 EA	48.88 EA	USD	586.56
***	Item completely delivered					
26	Paradise Hills Rec Center	06/30/2018	12 EA	56.35 EA	USD	676.20
***	Item completely delivered					
27	Penn Field Rec Center	06/30/2018	12 EA	59.25 EA	USD	711.00
***	Item completely delivered					
28	Presidio Rec Center	06/30/2018	12 EA	56.35 EA	USD	676.20
***	Item completely delivered					
29	Robert Egger South Bay Rec Center	06/30/2018	12 EA	48.88 EA	USD	586.56
***	Item completely delivered					
30	San Ysidro Activity Center	06/30/2018	12 EA	48.88 EA	USD	586.56
***	Item completely delivered					
31	San Ysidro Senior Center	06/30/2018	12 EA	48.88 EA	USD	586.56
***	Item completely delivered					
32	Silver Wing Rec Center	06/30/2018	12 EA	59.25 EA	USD	711.00
***	Item completely delivered					
Notes: T	he Terms and Conditions of this Purchase Order are avail	able at http://sandiego	.gov/purchasing/	eer i	ACT F	
	IMPORTANT!			SEE LA	TOT	



PO No. | 4500093839

Date: 09/22/2017

Page 4 of 7

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc U	om Exte	nded Price
33	Skyline Rec Center	06/30/2018	12 EA	59.25 EA	USD	711.00
***	Item completely delivered					
34	Southcrest Rec Center	06/30/2018	12 EA	48.88 EA	USD	586.56
***	Item completely delivered					
35	Southcrest Teen Center	06/30/2018	12 EA	48.88 EA	USD	586.56
***	Item completely delivered					
36	Stockton Rec Center	06/30/2018	12 EA	56.35 EA	USD	676.20
***	Item completely delivered					
37	Swanson Memorial Pool	06/30/2018	12 EA	59.25 EA	USD	711.00
***	Item completely delivered					
38	Tierrasanta Pool	06/30/2018	12 EA	48.88 E <i>A</i>	USD	586.56
***	Item completely delivered					
39	Vista Terrace Pool	06/30/2018	12 EA	59.25 EA	USD	711.00
***	Item completely delivered					
40	Willie Henderson Sports Center	06/30/2018	12 EA	56.35 EA	USD	676.20
***	Item completely delivered					
41	Colina Del Sol Pool	06/30/2018	12 EA	48.88 E <i>A</i>	USD	586.56
	PROVIDE SECURITY ALARM MONITORING PROVIDE MON READOUT SERVICE AT COMMUNITY PARKS II TEEN/ADUI CENTERS AND POOLS PER BID 10031741-13-Q PRICING A	LT CENTERS, AND REC	REATION			
	DIR PROJECT ID: 213579					
	 PERIOD COVERED: JULY 1, 2017 THROUGH May 30, 2018 PAY PER INVOICE. OTHER LABOR DEEMED NECESSARY WITH PRIOR APPI PERSONNEL OF COMMUNITY PARKS II DIVISION. INSURANCE TO BE UPDATED AS REQUIRED.)			
	DEPARTMENT CONTACT: MARIA FLOR POPOCA (619) 235	5-5205				
	PLEASE EMAIL THE INVOICES TO JMOILANEN@SANDIEG MAIL TO: COMMUNITY PARKS II 202 C STREET, MS 804C	O.GOV OR				
N . =	SAN DIEGO, CA 92101					
Notes: ⊺	he Terms and Conditions of this Purchase Order are avails	able at http://sandiego.	.gov/purchasing/	SEE L	AST	PAGE
	IMPORTANT!				R TO	ΓAL
To ensur directed t	e prompt payments, PO # must appear on all shipr to <i>Billing</i> Contact person at <i>Bill-To</i> address listed ab	ments and invoices; ove	all invoices must be			



PO No. 4500093839

Date: 09/22/2017

Page 5 of 7

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	FOR INVOICE INFORMATION: JUANITA MOILANEN, ACCOUNTS PAYABLE PHONE: (619) 525-8239				
	By performing the services detailed in this purchase order, Contr	actor			
	is entering into a contract with the City. Contractor certifies that he or she is aware of the wage provisions described herein and sha with such provisions before provisions described.				
	with such provisions before commencing services. A. PREVAILING WAGES. Pursuant to San Diego Municipal Cod 22.3019, construction, alteration, demolition, repair and maintena				
	work performed under this Contract is subject to State prevailing laws. For construction work performed under this Contract cumul	wage atively			
	exceeding \$25,000 and for alteration, demolition, repair and mair work performed under this Contract cumulatively exceeding \$15,	000, the			
	contractor and its subcontractors shall comply with State prevailing wage laws including, but not limited to, the requirements listed by This requirement is in addition to the requirement to pay Living W	elow.			
	pursuant to San Diego Municipal Code sections 22.4201through Contractor must determine which per diem rate is highest for each	22.4245.			
	classification of work (i.e. Prevailing Wage Rate or Living Wage I and pay the highest of the two rates to their employees. Living W	/age			
	applies to workers who are not subject to Prevailing Wage Rates 1. Compliance with Prevailing Wage Requirements. Pursuant to 1720 through 1861 of the California Labor Code, the Contractor	sections			
	subcontractors shall ensure that all workers who perform work up Contract are paid not less than the prevailing rate of per diem was	nder this			
	determined by the Director of the California Department of Indust Relations (DIR). This includes work performed during the design	and			
	preconstruction phases of construction including, but not limited inspection and land surveying work. 1.1. Copies of such prevailing rate of per diem wages are on file				
	the City and are available for inspection to any interested party o request. Copies of the prevailing rate of per diem wages also ma	n			
	found at http://www.dir.ca.gov/OPRL/DPreWageDetermination.h Contractor and its subcontractors shall post a copy of the prevail	ing			
	rate of per diem wages determination at each job site and shall n them available to any interested party upon request. 1.2. The wage rates determined by the DIR refer to expiration da				
	If the published wage rate does not refer to a predetermined wag to be paid after the expiration date, then the published rate of wa	je rate			
	shall be in effect for the life of this Contract. If the published wage rate refers to a predetermined wage rate to become effective upon	on			
	expiration of the published wage rate and the predetermined wag on file with the DIR, such predetermined wage rate shall become effective on the date following the expiration date and shall apply				
	this Contract in the same manner as if it had been published in spublication. If the predetermined wage rate refers to one or more	aid			
	additional expiration dates with additional predetermined wage ra which expiration dates occur during the life of this Contract, each	ates,			
	successive predetermined wage rate shall apply to this Contract date following the expiration date of the previous wage rate. If the lot of such expiration during the state of the previous wage rate. If the lot of the previous wage rate.	е			
	last of such predetermined wage rates expires during the life of the Contract, such wage rate shall apply to the balance of the Contract. Penalties for Violations. Contractor and its subcontractors shall apply to the balance of the Contractor and its subcontractors shall be contracted in the contractor and its subcontractors.	act.			
	comply with California Labor Code section 1775 in the event a w paid less than the prevailing wage rate for the work or craft in wh	orker is			
	the worker is employed. This shall be in addition to any other applicable penalties allowed under Labor Code sections 1720 –				
	 Payroll Records. Contractor and its subcontractors shall comp California Labor Code section 1776, which generally requires kee accurate payroll records, verifying and certifying payroll records, 	eping			
	making them available for inspection. Contractor shall require its subcontractors to also comply with section 1776. Contractor and	its			
	subcontractors shall submit weekly certified payroll records onlin the City's web-based Labor Compliance Program. Contractor is a for ensuring its subcontractors submit certified payroll records to	esponsible			
Notes: T	he Terms and Conditions of this Purchase Order are available	ole at http://sandiego	o.gov/purchasing/	05514	
	IMPORTANT!				ST PAGE TOTAL
To ensur	re prompt payments, PO # must appear on all shipme to <i>Billing</i> Contact person at <i>Bill-To</i> address listed abov	ents and invoices ve	all invoices must be		IOIAL



PO No. 4500093839

Date: 09/22/2017

Page 6 of 7

ine#	Serv#	Item ID/Description Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
		or and their subcontractor(s) shall also furnish the	_			
		ed in Labor Code section 1776 directly to the Labor in the manner required in Labor Code section 1777				
		in the manner required in Labor Code section 1777. S. Contractor and its subcontractors shall comply wi				
	• • •	or Code sections 1777.5, 1777.6 and 1777.7 conce				
		nd wages of apprentices. Contractor shall be held	3			
		r the compliance of their subcontractors with section	ns			
	1777.5, 1777.6		•••			
		ours. Contractor and subcontractors shall comply w				
		or Code sections 1810 through 1815, including but estrict working hours on public works contracts to	HOL			
	* * *	day and forty hours a week, unless all hours worked	d in			
	_	urs per day are compensated at not less than 1½ ti				
		ay; and (ii) specify penalties to be imposed on design				
	professionals a	and subcontractors of \$25 per worker per day for ea	ach day	ļ.		
		rks more than 8 hours per day and 40 hours per we	ek in			
		lifornia Labor Code sections1810 through 1815.				
		rovisions for Subcontracts. Contractor shall include				
		by of the following provisions in any contract they el contractor: California Labor Code sections 1771, 13				
		777.5, 1810, 1813, 1815, 1860 and 1861.	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	ļ.		
		e Section 1861 Certification. Contractor in accordan	ice with			
		or Code section 3700 is required to secure the payr				
	compensation	of its employees and by signing this Contract,				
		am aware of the provisions of Section 3700 of the				
		or Code which require every employer to be insured				
	•	kers' compensation or to undertake self-insurance i				
		th the provisions of that code, and I will comply with				
	Contract."	ore commencing the performance of the work of this	3			
		pliance Program. The City has its own Labor Comp	liance			
		prized in August 2011 by the DIR. The City will with		ļ.		
	contract paym	ents when payroll records are delinquent or deeme	d	ļ.		
	inadequate by	the City or other governmental entity, or it has been	በ			
		er an investigation by the City or other government		ļ.		
	•	erpayment(s) have occurred. For questions or assis				
		the City of San Diego's Equal Opportunity Contract 619-236-6000.	ting			
	•	and Subcontractor Registration Requirements. This	s project			
		ompliance monitoring and enforcement by the DIR.		ļ.		
	' -	ubcontractor shall not be qualified to bid on, be liste		ļ.		
	in a bid propos	sal, subject to the requirements of Section 4104 of t	he			
		t Code, or engage in the performance of any contra	act for	ļ.		
		defined in this chapter of the Labor Code unless		ļ.		
		tered and qualified to perform the work pursuant to	\ "F:14	ļ.		
		In accordance with Labor Code section 1771.1.(a on of this section for an unregistered contractor to	ı), [ı]ı			
		at is authorized by Section 7029.1 of the Business	and			
		ode or by Section 10164 or 2103.5 of the Public Co		ļ.		
		d the contractor is registered to perform public work		ļ.		
	pursuant to Se	ection 1725.5 at the time the contract is awarded."				
		ctor's inadvertent error in listing a subcontractor wh				
		ed pursuant to Labor Code section 1725.5 in a responsal part has grounde for filing a bid protect or ground				
		hall not be grounds for filing a bid protest or ground the bid non-responsive provided that any of the	8			
		the bid non-responsive provided that any of the r: (1) the subcontractor is registered prior to bid				
		ithin twenty-four hours after the bid opening, the				
		is registered and has paid the penalty registration for	ee			
		bor Code section 1725.5; or (3) the subcontractor is				
		other registered contractor pursuant to Public Cont	ract			
	Code section 4					
		ct entered into with any contractor or subcontractor	ın			
		por Code section 1771.1(a) shall be subject to rovided that a contract for public work shall not be				
		or voidable solely due to the failure of the awarding	n			
		or, or any subcontractor to comply with the requirer				
		5.5 of this section.				
	ha Tarms and C	anditions of this Purchase Order are availab		a gov/nurchasing/		
ntos: Th	tes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/				SEE LA	ST PAG
otes: Th		IMPORTANTI				
otes: Th		IMPORTANTI				
		IMPORTANT! ments, PO # must appear on all shipme act person at Bill-To address listed abov			FOR ⁻	TOTAL



PO No. 4500093839

Date: 09/22/2017

Page 7 of 7

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	 9.3 By performing services detailed in this purchase order, Contractor is certifying that he or she has verified that all subcontractors used on this public works project are registered with the DIR in compliance with Labor Code sections 1771.1 and 1725.5, and Contractor shall pr proof of registration to the City upon request. B. Living Wages. This Contract is subject to the City's Living Wage Ordinance (LWO), codified at SDMC sections 22.4201 through 22.42. LWO requires payment of minimum hourly wage rates and other bene unless an exemption applies. SDMC section 22.4225 requires each Contractor to fill out and file a living wage certification with the City Manager within thirty (30) days of Award of the Contract. LWO w and health benefit rates are adjusted annually in accordance with SD section 22.4220(b) to reflect the Consumer Price Index. Service contracts, financial assistance agreements, and City facilities agreements must include this upward adjustment of wage rates to coemployees on July 1 of each year. In addition, Contractor agrees to require all of its subcontractors, sublessees, and concessionaires subject to the LWO to comply with the LWO and all applicable regulat and rules. 1. Exemption from Living Wage Ordinance. Pursuant to SDMC section 22.4215, this Contract may be exempt from the LWO. For a determin on this exemption, Contractor must complete the Living Wage Ordina Application for Exemption. C. Highest Wage Rate Applies. Contractor is required to pay the high applicable wage rate where more than one wage rate applies. 	ovide 45. The efits age MC vered ions on eation nce			
***	Item completely delivered				
lotes: Ti	ne Terms and Conditions of this Purchase Order are available a	t http://sandiego	.gov/purchasing/	Line Item Total \$	25,160.
				Tax \$	0.0